Profil - trasa 3

_ ksl 8
" g B EgR00 B8
2 Se = X . & =
=% 4T s ° EIpsQN 55
O g |Es —- :
v 5 |22 |2 £ g
J 30 @ e |m E =
] _“H_Mh £ 8 =, |2 i ¢
@ @v%@ 8 @ » .Wy 5 _my
T g | §:58e g |=| 2@ F R E
o 2 |=0 5 @] a — >~ N
— 2 || ON|s = g O+ @ 3
G | 229E ¢ |8 D@ |54 3
) m @ﬂkmﬂm H e : e &@ coa @
= 25z | & |f| B¢ 52 £
£ ||8g8q 3 % |zl 228
D¢ |Hez8 | T B B2 | E s
- @ m, = |8 o= 8 ? g =
He 288 | & F 7| F &g ¢
L2°P2 | | € |8 8 5 5| =
= d G | TN
2 m - b= BE 83 |28
o —
) o2 2 5 W mw .- =
sx | 2 3 |5 52 L |g7 . | 2%
ig | s ¢ |3 33 o Mm_m £ g 8=
=3 | g R £e gf [ NEZE 8%
= B3 a g
o
™
(9]
S
Gy'yG=u
06€°0€2+0 SV¥S [ 2998 T 810 scoe
ysndm foud | | 85'¥S T 610
005°21¢+0 =
[ 9Y'PS T €L°0- |
o
pzolz -lfodd m
: + pzolz load| Gz ro=u n._w
09/.°¢0c+0 8z yro=u
[ LCPS T 7 [ 0000 m w
\ TS T 910
El=
0681 +0 pzulz (O4d -3
PEOLZH0A 21 Pe=u - N
0€5°€81+0 71 he=u 2|2
/ | 2¢9'vS | 1€°0- |
pzolz foud [ LEYS | 220 |
08¢'891+0 80 ro=u < E
pzolz Joad % M
09v' V91 +0 « 90°'+o=u 2 m
<t 4
1sndm  foad - L cope - noene -
00S°6G1+0 1 EEVS | 0E°0
pzolz ‘lou
069°€S1L+0 66°86=1
[ 90'vS | 600~ |
pzolz -low
ovL L¥L+0 g6°59=u
[ LO¥S | OL°O- |
| 06°€S | T | ¢r's8e | ]
Q0E 6¢}+0 pabiz {040 R T €8'€S T 00 |
007'821+0 pzulz ~foxd 19 FE=
2sndm foad en — €
000°'GCL+0 | — — SE
pzolz -lfoad m%
0¥9°0¢1+0 58-pg=" | S8€S | egeg | z00 | S ©oog0z T 1
pzolz ‘lo.d &=
0¥S'LLL+0 T eo=u
[ €6'€G | 90°0- |
o
8 S
m | 68°€S T T T o09v0 T ¥ ]
w0 o
pzolz -loud ]
0/0°001L+0 . [660=1 - 76'68 T : - 10080 Hd
oogeor0 e o¥88%
z
oE§
o
| 66°'€G | ¢0°0- | m oS %
o n_/_h ﬂ
W x 4
ad
pzolz -load .
092°080+0 Zopo=u - 20VS - 6e'es T €00 | ZL6L+0 |
pzolz ‘lo4d T
0€8'690+0 o 207G=u 60'vS T 100
o
2sndm ~load M.u o
- H
00S°t+90+0
pzolz (oud 60vS | ¥0°0
0€9°.50+0 Pl ro=u
pzolz -loud L oninm o~
009°6%0+0 81 ¥g=u g1'¥s T 200
2|8
4 2°1 Lo m %
DR
| 8CYS T GL'vS T vI'0 7 [ cLoe | ]
S§
[ 0EPS T T 7 o < [ ¢8ve T 7
pzolz -lfoad =g]
0L2'1¢0+0 ro Coud | BEFG=Y | 1 N\ uh
. LI L mmny Zevs T 900 | \&
0cl'610+0 gz ro=u
| LCVS | T [ 9L ]
pzolz ‘load L Arome & o1en 4
0L¥'600+0 12 rs=u oL'vs | 210
S
z g
sndm -load :4u | o
00Z°100+0 AT
& eI S = = S o [ EVTS oooo
Q S S S ] S Q
N © [Te) <t ™ o ~
w Te] Te] [Te) [T [T2) w
= [5) c >
Z > ) [&] o
= o I 2 0 >
w o 2 o =2 S
w 3 o (] c —
— el ] .
e — 7] N = — N
Z c — b > > O ©
0o o § ©  © 8 =
O €| | 9 @ o Q ®
o L®) c = = o e
S & & N o o Q o)
®) N N O - — o) —
O o @ w T o &£
O
o

..\ACAD-Bartoszyce Model_v8.dgn 2007-07-05 14:07:15




